
 

Test of Understanding of Vectors (TUV) 
 
 
1. The figure below shows vectors ࡭ሬሬԦ and ࡮ሬሬԦ. Choose the option that shows the vector sum ࡭ሬሬԦ ൅  .ሬሬԦ࡮

 
 
2. The figure below shows vector ࡭ሬሬԦ. Choose the option that shows the unit vector in the direction of vector ࡭ሬሬԦ. 

 

 
 
3. The figure below shows vectors ࡯ሬሬԦ and ࡰሬሬԦ. Which option is the best interpretation of the dot product (࡯ሬሬԦ·ࡰሬሬԦ)? 
 

(A) The magnitude of a vector between ࡯ሬሬԦ and ࡰሬሬԦ pointing up to the right.  
(B) The projection of vector ࡯ሬሬԦ onto vector ࡰሬሬԦ multiplied by the magnitude of vector ࡰሬሬԦ.  
(C) A vector between ࡯ሬሬԦ and ࡰሬሬԦ pointing up to the right. 
(D) A vector perpendicular to both vectors.  
(E) A vector in the direction of ࡰሬሬԦ. 
 

 
 
4. The figure below shows vector ࡭ሬሬԦ that forms an angle Ԅ with the vertical axis. Choose the option that shows the y-component vector 
of ࡭ሬሬԦ, (i.e., ࡭ሬሬԦ࢟). 
 

 
 
 
 
 
 


